EARAROBEEIERT — 2 N— IBISH —F

201757H2H (B) 4E7KR5H

mzfﬁm{;}t XRZIE C1HE vY7F%—#% ‘ [Xfg] B ‘ [EME] — | & (&) 14000 B
[AE£] 1% :260,000 " ~ 2#%&:52,000”  33%&:26,000M . 43%&:19,000 M 53 :7,000 8
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— REE—BR :32. -2-1- . — EEE (KR)
117l 8 LAF 41—t 4 4 e 1(3_2)6 2-2-1-1 | 41.5 5 ;1_281) ;:Ptf;z
R:T7RIAYL—> B:T75T—Fv>T FH XA
N L ZAHR :33. ~7~4~ . — NARE  (KIR)
olgli| 72 rETL—1 H o4 43 1(333)1 5-7-4-3 | 41.3 1 (4_5;0) ;kﬁ;;it
R:F4—TALNI s BiACTT HET77—L
. SiEmE . 1-1- — #AEER (KIR)
355|171 74-2 # o4 | B b | TR T | #xme v
XL ThANAN BiehHNTTY=T4 ARETa—-T7—L4L
PR o EAATE :33. -3-3- . — FHET (KR)
algliol vy kLT IR S| HEE ead O 5 (B
o4O BiNLXIRYF N E%5%
N N BERRE :33. -8-9- . — HPRE— (KR
5179 | 3—IVKT) Y- o4 R (173277) 7-8-9-9 | 41.0 8 :1_810) %;Kﬁ% 7
274DV R B:HIy bTalb =Y Tr—LA
[EESES :34. -9-6- . — FHET (KiR)
R # 4 | o s | s o] e o [HEE
L:T7RIf Y L—> B:T785> H—L—+ T vIN> - T7—LBRS
N " ROE— : -4-5- - HEEFE (KR)
7 6 x4 — 44 a8 1(.33/:2.)2 4-4-5-4 | 42.7 2 <4+433) Eﬁ%—ﬁ(
R:T7RYA4YL—> B:T774>F0y7 ElEsgae]
— EBRERE : -6-8- - fREEFD (FKR)
8 A==z B4 % 1(.13/42.)3 8-6-8-7 | 42.2 6 <4+411) by
R:Xv=>tw571L B:VYv=>O—4%2 M {8
N N ARABE :34. —5-7— . — RIREF (KiR)
9 3| &L 4 6 & 1(734t§ 6-5-7-6 | 42.4 3 <5+128) PN
RiLF1T—AN— Bik—U—HH— R/E77—A
=53 3 i 7 | BEAE 1:34.7 9-10-10-10 [ 41.9 | — 9 470 | /AEEA (KR)
10 2| 773I-V1I—-L2R 54.0 @ 1/2) o |BHE—
R:xrinqda— BN TREF S
11 7| TAY>A4=ax%F o 4 Sﬁzﬁg%@ 1.(365>.7 10-11-11-11{ 42.9 | — | 11 (4_712) igiggﬁ% (2R
LI TFE2Te BIIAY 2 NyE— SERE
@ 1 — S —EBlIEf
13=7r= 5,8,10,6,11,3,9,4,2,7,1
2= = 5,8,10,6,3,4,11,9,1,2,7
d=zr= (5,8),10,11,6,1,3,4,9,2,7
40—+ — 8,5,11,6,10,3,4,1,9,2,7
[ N3
BB 8 1,470 714K 8-11 360M % E 7-8 530 3EHE 5-8-11 7,530/
8 B 8 210M 5-8 3,790 B & 8-11 740M K31 8-11-5 72,990
1 110 5-11 1,080M | | & & 8-11 3,120
5 360F9

ABICOVWTRDTEEERROODE. TR LIV,




